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QUESTION 1

Why do large OSPF networks use a hierarchical design? (Choose three.) 

A. to decrease latency by increasing bandwidth 

B. to reduce routing overhead 

C. to speed up convergence 

D. to confine network instability to single areas of the network 

E. to reduce the complexity of router configuration 

F. to lower costs by replacing routers with distribution layer switches 

Correct Answer: BCD 

OSPF implements a two-tier hierarchical routing model that uses a core or backbone tier known as area zero (0).
Attached to that backbone via area border routers (ABRs) are a number of secondary tier areas. 

The hierarchical approach is used to achieve the following: 

Rapid convergence because of link and/or switch failures 

Deterministic traffic recovery 

Scalable and manageable routing hierarchy, reduced routing overhead. 

 

QUESTION 2

SIMULATION 

There are three locations in a school district of a large city: ROUTER -M, ROUTER -W and ROUTER -U. The network
connection between two of these locations has already functioned. 

Configure the ROUTER -M router IP addresses on the E0 and S0 interfaces so that the E0 receives the first usable
subnet while the S0 receives the second usable subnet from the network 192.168.160.0/28. Both interfaces would
receive the 

last available ip address on the proper subnet. 
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Note. The OSPF process must be configured to allow interfaces in specific subnets to participate in the routing process. 

Correct Answer: ROUTER-M> enable 

Explanation/Reference:

Password. Cisco

ROUTER-M# config t

ROUTER-M(config)# interface e0

ROUTER-M(config-if)# ip address 192.168.160.14 255.255.255.240

ROUTER-M(config-if)# no shutdown

ROUTER -M(config-if)# exit

ROUTER -M(config)# interface s0

ROUTER-M(config-if)# ip address 192.168.160.30 255.255.255.240

ROUTER-M(config-if)# no shutdown

ROUTER-M(config-if)# end

ROUTER-M# copy run start
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QUESTION 3

Refer to the exhibit. 

If the router Cisco returns the given output and has not had its router ID set manually, what value will OSPF use as its
router ID? 

A. 192.168.1.1 

B. 172.16.1.1 

C. 1.1.1.1 

D. 2.2.2.2 

Correct Answer: D 

 

 

QUESTION 4

Scenario 

Refer to the topology. Your company has decided to connect the main office with three other remote branch offices
using point-to-point serial links. 

You are required to troubleshoot and resolve OSPF neighbor adjacency issues between the main office and the routers
located in the remote branch offices. 
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R1 does not form an OSPF neighbor adjacency with R2. Which option would fix the issue? 

A. R1 ethernetO/1 is shutdown. Configure no shutdown command. 

B. R1 ethernetO/1 configured with a non-default OSPF hello interval of 25: configure no ip ospf hello- interval 25 

C. R2 ethernetO/1 and R3 ethernetO/O are configured with a non-default OSPF hello interval of 25; configure no ip ospf
hello-interval 25 

D. Enable OSPF for R1 ethernetO/1; configure ip ospf 1 area 0 command under ethernetO/1 

Correct Answer: B 

 

Looking at the configuration of R1, we see that R1 is configured with a hello interval of 25 on interface Ethernet 0/1
while R2 is left with the default of 10 (not configured). 
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QUESTION 5

Refer to the exhibit. 

A network administrator is troubleshooting a connectivity problem on the serial interfaces. The output from the show
interfaces command on both routers shows that the serial interface is up, line protocol is down. Given the partial output
for the show running-config in the exhibit, what is the most likely cause of this problem? 

A. The serial cable is bad. 
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B. The MTU is incorrectly configured. 

C. The Layer 2 framing is misconfigured. 

D. The IP addresses are not in the same subnet. 

Correct Answer: C 
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